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Q1. Find the area of the region bounded by y2 = x + 2 and y = x.

y2 = y + 2 =⇒ y = −1, y = 2

A =
∫ 2

−1
(y − (y2 − 2)) dy = ... =
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Q2. Sketch the region enclosed by the curves y = x2 and x = y2 , then find the volume
of the solid that results when this region is revolved about the y-axis.

0.2 0.4 0.6 0.8 1

0.2

0.4

0.6

0.8

1

Using the method of washers perpendicular to the y-axis

V =
∫ 1

0
π((
√

y)2 − (y2)2) dy =
3π
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Hattan Tawfiq
y2 = y + 2 =) y = ¡1; y = 2
A = Z 2
¡1
(y ¡ (y2 ¡ 2)) dy = ::: =
9
2
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Using the method of washers perpendicular to the y-axis
V = Z 1
0
¼((py)2 ¡ (y2)2) dy =
3¼
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